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1. Which of the following leaders signed The Atlantic Charter on 14" August 1941 ?
A) F. D. Roosevelt and Joseph Stalin B) Joseph Stalin and Winston Churchill
C) Joseph Stalin and Woodrow Wilson D) F. D. Roosevelt and Winston Churchill

2. Name the leader of the Russian Revolution of 1905.
A) Alexander Kerensky B) Father Gapon
C) Father Rasputin D) George Lvov

3. Who introduced annual budget system called Pativukanakku for the first time in
Travancore ?
A) Vira Udaya Marthanda Varma (1314-1344)
B) Rama Varma (1721-1729)
C) Marthanda Varma (1729-1758)
D) Karthika Tirunal Rama Varma (1758-1798)

4. Which of the following revolutionary leader assassinated Mr. Ashe, British Collector
of Tirunelveli ?
A) Nilakanda Brahmachari B) Chembakaraman Pillai
C) Vakkom Khadar D) Vanchi lyer

5. Inwhich of the following place Parallel Government was established during the period
of Quit India Movement ?

A) Bardoli B) Ballia C) Bhavnagar D) Nagpur

6. British Prime Minister Liz Truss belonged to which of the following Political Party ?
A) Labour Party B) Democratic Party
C) Conservative Party D) British Socialist Party

7. Which of the following statement is/are correct about the Interior of the Earth ?
I. The transition zone between Crust and Mantle is Moho’s discontinuity.
II. The NIFE layer is in mantle.
lll. The upper mantle is in molten stage.
A) Only I and Il B) Onlyllandlll  C) Only | and lll D) All of the above

8. Which of the following statement is/are correct about the warm currents ?
I. Gulf stream current, Canaries current.
II. Agulhas current, Oyashio current.
I1l. Kuroshio current, Brazilian current.
A) Only I and Il B) Onlylland lll  C) Only llI D) All of the above

9. Which of the following statement is/are correct about the Karewas formations ?
I. Himachal and Uttaranchal Himalaya.
Il. Kashmir or North Western Himalaya.
[ll. Darjiling and Sikkim Himalaya.
A) Only | B) Only Il C) Only IlI D) All of the above
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. Lesteumib seveveuisaiiey wmr 1941 gysevi’ 14 oyetimy o1 evneriyd FnFesidEev
s wLpS G L ?

A) F.D. epav@eusvr” ommyib Ceongts eivir_meSesr

B) Geonart evr_mellesr opmyb alflestev_eir Fid&ey

C) Ganrgrs evr_meSlest opmib o 1 Cum allebeesr

D) F. D. epav@eucvr’ opmyib aflestev_er Fid&lev

. 1905 gaflweir Lyg” Puilesr seweveuflesr GLwenrsd GBI ayLb

A) Qasgmenr i 656 geTavE) B) obungi &CLimesr

C) s gavLig 6t D) emigy Gevmeir

. LUBeysentd@ 616D au(hLhST L Glel” (pewmenw F)(HallsmBigndleh (LpS6TLpenDILITS
D(LPpSLILI (DS S w6 T

A) afr 2 sw wmigsnewr euiom (1314-1344)

B) gmo euriom (1721-1729)

C) wmiggnes_ euriom (1729-1758)

D) smig&s @mwmrer gao euiom (1758-1798)

. Dp0BevCouadlufieir LML 19 &y H0ClevEL_greT H(1h-Yey eleTLIImId CETemev ClFUIS
LI &g Semeal T wimr 9
A) Bovsessti_ L9gLbLogem B) Qabuisgmioest Leremar

C) awssib szt D) euresd g

. QeusrewarwGer QeuallCumy QusssGer CLng 6ihs QL SH Q)event s
2 (hUTSHSHLILIL L G)

A) uiGgmel B) weveSuwim C) umeipsi D) mprsyi

. A gy Ygse wH@A Sev L gev LleTeudpLd 6% IFWed s Fevws CFibgeur ?
A) Qsmflevmert &4 B) geipmws s &
C) serrFiGaig e s & D) 97 19 ey Cangadlev” &1° &

. Yhludlest o 1 ypib Lpplw 196TaHLD Fmprysenley 61s) Filwmes).
l. GuGevr® (Crust) wmmytd Groeiriged @ewr_Guwr 2 eirer Loessi_evib GomGammales
ST IFRAWDDI).
II. NIFE o/(®&@ wmessiigadley 2 citeng;.
. Gev Groeitged o (KB w Blemevued 2 6iTeng).
A) | wopmid Il o Bib B) Il opmyip Il o™ (Hib
C) | wpmyd Il " @b D) Gupses_ oemeisgib

. et FCyTL L Bisearts Lpp) LNeTeupLd mpmisaileh e1gy Flwmeg ?
l. euewargLm FCgn’ L 1b, Cxesrfl FCrm L 1b.

Il. wy@awmrev FCgr L 1b, gumaflGuwmr FGm L 1b.

. &Ceoumaf)CGuimr FCgm L 1b, 19CrReSwesr FCgm’ L _Lb.

A) | wopmib Il o Bib B) Il opmyip Il o Bib

C) Wl @b D) Gomsetr_ ojemesidgib

. &Cgeurev o (heundsd LPHM) LIesTauhLD FpmIFHailey 61% FAlwmesg)
l. adlordsed wopmitb 2 SFIMTEHFD @)LOUILDEGV.
Il. smeyuli 9evevg) euL_Gop@ @)Lownee.
. CmigdeSis wpmib HFGb @)Lowioeney.
A) | i b B) Il " @b
C) Wl @b D) Gupsesr_ oeeidgib
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10. Which one of the following statement is/are correct about the Sun Synchronous
Satellites ?
I. Altitude between 700-900 km.
II. Orbital period 24 hours.
Ill. Earth resources applications.

A) Only I and Il B) Onlyllandlll  C) Only | and llI D) All of the above
11. Which of the following statement is/are correct about the fine grains in India ?
I. Jowar, Bajra.
II. Maize, Ragi.
Il. Rice, Wheat.
A) Only | B) Only land Il C) Only Il and 1l D) Only Il

12. Which one of the following statement is/are correct about the western boundary of
the Ukraine ?
I. Sweden, Germany.
II. Norway, Switzerland.
Il. Belarus, Polland.

A) Only | B) Only I C) Only Il D) All of the above
13. Who will exercise veto power over all the key aspects of GST including rates ?

A) President B) Prime Minister

C) Union Finance Minister D) Chief Minister

14. A specialised money market institution in India which has been established with the
objective of providing liquidity to money market instruments
A) DFHI B) NBFls
C) Central bank D) Acceptance houses

15. Which of the following statement about NITI Aayog is not correct ?
A) It serves in spirit of co-operative federalism
B) It used a bottom-up approach
C) ltis an advisory think tank
D) It had powers to allocate funds to Ministers and State Government

16. The effect of direct tax is on
A) Price of goods B) Capital goods C) Consumer goods D) Income

17. Who initiated open economy system in Indian economy ?

A) |. G. Patel B) Manmohan Singh

C) Pranab Mukerjee D) P. V. Narasimha Rao
18. Who was the founder of Evergreen Revolution in India ?

A) Norman E. Borlaug B) M. S. Swaminathan

C) T. W. Schultz D) Keith Griffin

A "
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10. &lw @sFmsa) CFwupnensdCsrersamarts PPl LIeTeu(bLd Fapmsaied 615

11.

12.

13.

14.

15.

16.

17.

18.

Flwmesg).

[. 700-900 )15 @ewr_Gus o wigtb.

II. &pmitiumens smevib 24 wessfl GpLb.
. erig MGavmievev LiweTLITRSHGT.

A) | wopmib Il o’ Bib B) Il topmyip Il o BH1ib

C) | wpmyd Nl " B1ib D) Gupses_ oeesidgib

@G wrailed 2 erar Fny Sretlwmsenars UPpHI L9TaIHLD FnpmSencd 618 FilmeTs).
l. Geomeur, Lighgm. II. Ggmemb, pn&). . yM&F, CxsngemLo.

A) | o b B) | opmyib Il o (H1ib

C) | wpmyd Il " Bib D) Ul o @b

2 gemgesfler Cop@ eTevemevenwits Lppslw L6TeuHLD FnpmIFeaflcy 615 FMwTesg).
l. evafL_ctr, GlegiLoes).

II. pmiGeu, &l Fievpg).

. Quevrgav, Cumevbg).

A) | o ®b B) Il o b

C) Wl @b D) Gopsetr_ oemesidgiLb

aflenevaser o L Ll gletavig uller 9emensdl (LpSFw IjibFmisalleyd afr G m
D FMISS W LIWGTLI(HS B TITHGT

A) seiHuS B) usioi

C) wsHw K% oeviodsi D) wse yemiodair

LIGSSTF &b &(Hail%@hdbF LIGTLILLpSSHSS auLpmIGLd CrrsssgiL 6T Blmieailii’
@pFwralled 2 6rar e@h FDLILLI LIGwTF Fhews BHlmIcesLD

A) DFHI B) NBFIs

C) wsHw eumid D) <80sL1_ctTed amayev

NITI 9 Cwré upPlw LeTeuBLd Fpmisefcy 615 Fhlulebemev

A) Q&I FmLBwey gl Lm Sulesr o ewrialleh OFwedLIBEB DS

B) Qs Sphlevev 2jemi@penpedwill LLGTUHSS S

C) Qa1 206 %Gowrsmard Gup

D) wewiwdsiser wopmitd omblev YIHs6HdbE H1F @565 AFSTILD Q)(BHS5H

Gy eufluilesr (direct tax) srés @&ev @)% ELb
A) pevew allemev B) epovgen GlumupL seir
C) msiGeumi GlumpL ser D) eu@Lomesih

@B wLr CunmerTsTisHed Fwig COLThaTISTT (Lpewpewd O T BISweui Wi ?

A) I G. uGLev B) werGonseir §mi
C) Wgewrms wpsigh) D) P. V. pu@ibio gre
@pFwrailed LseowreT LIl Feow epL (b Seur

A) mriwesr E. Gumievrs B) M. S. seunbmngesr
C) T. W. ag9ebr e D) 83 &ifo%siietr
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19.

20.

21.

22.

23.

24.

25.

26.

27.

President of India has to act on the aid and advice of
A) Council of Ministers

B) Council of Ministers with Prime Minister

C) Supreme Court of India

D) Speaker

Fundamental Rights are discussed under which Part of the Indian Constitution ?
A) Part—1 B) Part—1I C) Part-1ll D) Part—-1IV

Right to education is inserted under Fundamental Rights by which Constitutional
Amendments ?

A) 104" Constitutional Amendment Act, 2019

B) 92 Constitutional Amendment Act, 2003

C) 86" Constitutional Amendment Act, 2002

D) 101stConstitutional Amendment Act, 2016

Article 15 of Indian Constitution deals with the prohibition of discrimination on
grounds of

A) religion, race, caste, sex or place of birth

B) religion, race, caste, sex, place of birth or residence

C) religion, race and caste

D) religion, race, caste and sex

73" and 74" Constitutional amendments refer to
A) Co-operative Societies B) Panchayats and Municipalities
C) Reservation D) Arrest and Detention

Public Interest Litigation can be filed in
A) The High Court B) The Supreme Court
C) Both Supreme Court and High Court D) District Court

Union list in 7" Schedule of the Constitution includes which of the following ?
A) Arms, Firearms, Ammunition and Explosives

B) Fisheries

C) Public Health and Sanitation

D) Education

How many official languages are recognised under 8" Schedule of the Indian
Constitution ?
A) 12 B) 15 C) 16 D) 22

Where is the seat of International Court of Justice ?
A) Hague B) New York C) Washington D) Paris
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19. QBHw @eTTHLS) @esr 2 5a7) LopmiLd 9y, CevnFenamuiesiiig OFuwevL Galess(hLb.
A) wp&h FevL B) Wuso@bL_eir SjewiodFiser @ Lp
C) QnHw 245 BFFioesipLd D) sumpmusi
20. @pPuw yrFweveLolINeT eThBLI LIGFUNHT BLp g LiienL_ o Mepioser aleunFbsL
LGS cipest ?
A) ue® -1 B) uss -l C) us® -l D) ug® -1V
21. e1bs QIFwevenLoLiLd B(5SSBIGET eLPGULD HevaISETesT 2 iflenip g LiLienL_ 2 flenLoseilesr
&1p CaidsLiLL (Herears ?
A) 104 aug rFwevenioliLys Hmssd s b, 2019
B) 92 augy opFwevenioling Bpsss i _1b, 2003
C) 86 eug ouFwevewioliys Fpsss 1 b, 2002
D) 101 eugy @yrFweveniolilig Dwdss 1 1b, 2016
22. @QpFw gyrFweveniori et 15 eugy Lifley 9J1g L1ienL_udled Lm@GLm)

ST (Heuenss &HSHmal.

A) wgib, @eib, F1H), LITedlesd Sevevg) LADHS @)L LD

B) wsib, @ewid, #15), Linedleid, LIpBEE @)L b Yevevd aFSGLD @)L Lb
C) ws1b, @esib oPmiLb FTH

D) wsib, @ewid, 1% LopmyLd LimedlesiLb

23. 73 wpmib 74 eugl rFlwevenioliL] HpSsEIH6T Qews GUILILN(BHSF TDET
A) &L BD6y FEISBISET B) wuesFmudsiser wopmib psom Fseir
C) Q- 231460 D) aag wpmib $GILIL

24. Qlumgy pev auLpdGHS®aT @b 1EHD GlFUILIGUTLD.
A) 2w FFioecspLd
B) o 45 p@oesipib
C) 247 pGocsipLd LoPpmyb 2 wit FEHLoGDLD Q)Tess(hLb
D) womeul’ L p@iociipib
25. yrPwevenol e 7 eugl 9L cuenesstuiled 2 6ier wyestlest L1 wedleh L9656 heuesT
UDDIGH 6T%H 9L BIGLD
A) wsBiseT, FILILITGF s, ey D(BSEIS6T LoPmLd CleuLy LIGLITIHL S6iT
B) wfe1 euemib

C) Oungy 9CuréSwLb LoHmILd FHBASTILD
D) sevall

26. @QpHw yrFweeolifer 8alg 9L euamenTullelt GLp cISSenest HYFHTILILTG
Oomplaser yBIGHMbsLiLL (HeTaTes ?

A) 12 B) 15 C) 16 D) 22
27. FiiauCGss pPoatipid @)(hses 6181G% 2 6itars ?
A) Gamns B) Aywmis C) eumaflmi_esr D) wmiev

A -7-



119/22 -T

28. Which of the following statements regarding Article 323 A is/are true ?
i. It deals with the Constitution of Administrative Tribunals.
ii. The Article deals with formation of Administrative Tribunals in Union territories only.
iii. The Article was not discussed in Constituent Assembly of India.
A) Only i B) All the above i, ii and iii
C) Only i and iii D) Only iii and ii

29. Principle of non-stigmatising semantics means

A) There shall be no discrimination against a child on any grounds including sex, caste,
ethnicity

B) Adversarial or accusatory words are not to be used in the processes pertaining to a
child

C) Any child shall be presumed to be an innocent of any mala fide or criminal intent up
to the age of eighteen years.

D) All past records of any child under the Juvenile Justice system should be erased
except in special circumstances.

30. Which one of the following pillars is ‘not’included in “The Export Preparedness Index
2020’ prepared by NITI Ayog ?
A) Political System B) Business Ecosystem
C) Export Ecosystem D) Export Performance

31. The principle of natural justice ; ‘Nemo judex in causa sua’ means
A) To hear the other party or no one should be condemned unheard
B) Absence of double jeopardy
C) No one should be made a judge in his own cause and the rule against bias
D) No ex-post-facto legislation

32. Which Article says that all laws in force in the territory of India.... in so far as they
are inconsistent with the provisions of the Part lll, shall, to the extent of such
inconsistency, be void ?

A) Article 13 B) Article 32 C) Article 14 D) Article 22
33. Name the digital learning Platform for MGNREGS.
A) e-Pramaan B) NeGP C) SWAN D) e-Saksham

34. Choose the correct statements from the following :
i. The Submandibular glands are the largest salivary glands in the human body.
ii. The Parotid glands are located inferior to the tongue.
iii. There are only 3 salivary glands in the human body (including minor glands).
iv. Mumps infection affects the Parotid glands.
A) Onlyi B) Only iii and iv
C) Only iv D) Only iii and ii
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28. ail%) 323 A @ upplw L9eTaumLD FmpPnISaiey 618 2 aTento ?

@31 Blieurs SAILmuEISelesT 9TFIeELOLIGHLIS HHILITATEDSE).

westhwest L9gGsFBISeNey oL (B BlTeuns SALILIMUBISEET 2 (Ko Th@&ais] LD S (R
ENNETR

@BSw pFwed Fliewnu FenLuied s (HenT alleurFésLiLL_alsvenev.

A) i to” b B) GuGev o ditar yemesigaiLh i, i, iii
C) i wopmub iii or” BLb D) iii ommyib i oL (HLb

29. Non-stigmatising semantics Gemp6lLimaissr Clsmerens
A) uneSlerid, g%, @eTb 2 L Ll 6Thd Lg LiLienL_uleVILb S5 I IS 6ThS LITEGLIT(H

30.

31.

32.

33.

34.

[OGEETZ Y

B) @ Gysms Qsmiurer QFwedpampsaley alGrrsiomest 9cvevd@GHDIFTL (B

UMTSHEDSHET LILGTLI(HDSHSLILIL & Fal M.

C) embs6leuns GLpbenswd LSO (B g auenT 6T550)6M1h SeUDTET 6L6vs) HflLblesey

Crrés580@Lb QLimaunsd HmsLiL Ceuer(hLb.

D) @wiiys @phleewsamens sallidgl, s96leuemasieh $% (Lpenpullest SLp 2 6iTer enesiss]

GLB®SHNGT SL_EFHTeV LFeHehD YLPSHLILIL CouehT(Lb.

NITI 9Cuing gwriss ‘ersavGumil’ gwmiglevevd @Gplui®k 2020 6b fes16HLD
Sliessrsefest 615 CFidbsLILIL allevemev 2

A) rFuwied yewioLiLy B) cuenfls spmid@sLped yewiolisy
C) erdavCumiL’ &pmdF@Lped YemLoLiL] D) ergavCumil QFwevSmasr

Quinens pPulet Clsretens ; ‘CrGLom ggd0)_dev Q)65 HIFT HGUT GTGDTED

A) wopp s letengs Csl s jcvevgl winmhd CHL FMFeS5d HeoTL&55TnL_ M5
B) @uior yigs @edanss

C) wrewguid sjeuggy OFmibs sryewtd@eib, FmiLsE 1@ umer alSuleyd FHLS)

Y SBSHIL_TS]

D) 2 asenind@Ls LBensuw F1o1_1b @)evenev

Q@BHWL LGBy FevL_(Lpenpulleh 2 6iTarT YemeidgF FLU L Bsehhd LGS |l @)
ANDFEHGG (LPIERTTS Q)(HHEGLD UenTuiled, HSFEHIW (LPTETLITL 19 65T eraild @,
OFebeVTssTs () (hé@LD 6Tedn) 6155 L (Hevr (Article) swmm&na)

A) s ey 13 B) s ®eor 32 C) s ey 14 D) s (®enyg 22

MGNREGS sgamer 198" 1_6b $ppeyIssneT sengSer Ol
A) e-Pramaan B) NeGP C) SWAN D) e-Saksham

Lereupeuateunmledl g Filwmest mlsaassaars Csinb0)%(HSsa Lb.

ii.
iii.
iv.
A)
C)

FLILDMTEESTLY L{eVIT HILILISET Lo6s|E 2 1_aSled 2 aiter LH&LIGLMw evaSeur Syiilser
2hSLD-
uGpmy " &rli9%6T Brbens il SILPGUTS DGLDbEHIGTETEHT.
waeflg 2 1 6Slev 3 2 1ApBT Huifser ol HCL 2 ireres (Pay Fliser o 1" ).
Faf Gsmomy, LGymy L I 9seer LITHSEH DS
i Lo (HLb B) i ommyih iv or” Bib
iV Lo (pILb D) iii opmyh ii o Hb
-0-
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35.

36.

37.

38.

39.

40.

41,

Match the following :

P. Lead Poisoning T. Transverse Myelitis

Q. Mercury Poisoning U. “ltai-ltai” disease

R. Cadmium Poisoning V. Mees’ Lines

S. Arsenic Poisoning W. Impairment of learning process
X. Alzheimer’s disease
Y. “Mad Hatter” syndrome

A) P-X, Q-V, R-U, S-Y B) P-W, Q-Y, R-U, S-V

C) P-W, Q-U, R-T, S-V D) P-X, Q-V, R-T, S-Y

From the given list of statements, choose the incorrect statement :
i. Approximately 25% of polio cases proceed to paralytic disease.
ii. In general, the paralysis caused by polio is more common in the lower part of the
body.
iii. The transmission of polio is generally through the faecal-oral route.
iv. Pharyngeal spread is more important in epidemic poliomyelitis where sanitation is
good.
A) Only iii B) Onlyi C) Both iii and iv D) Both ii and iii

Which of the following is not a salient feature of the Aardram Mission launched by
the Government of Kerala ?

A) Re-engineering of Primary Health Centres to Family Health Centres

B) People friendly out patient services

C) Access to basic health services for backward tribal communities

D) Superspeciality services in taluk hospitals

Zika Virus disease was first identified in (country) in 1947. It was however
first reported in Kerala on 8" July 2021 from district.

A) Uganda, Thiruvananthapuram B) Sierra Leone, Ernakulam

C) Sierra Leone, Thiruvananthapuram D) Burundi, Ernakulam

When a force is applied on a moving body, its motion is retarded, then the work
done is

A) Positive B) Negative

C) Zero D) Positive and negative

If both mass and radius of the earth decreases by 1% then
A) Acceleration due to gravity would increase

B) Escape velocity would increase

C) Acceleration due to gravity would decrease

D) Escape velocity would decrease

The number of images observable between two parallel plane mirrors is
A) 2 B) 4 C) 11 D) Infinite
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LeraupeuataunenmLs OLmbgg) :

P. muw a9autb T. Transverse Myelitis

Q. unsps aleulb U. “ltai-ltai” Grmus

R. smbwib afautb V. Mees’ Lines

S. wyiFesils allagLd W. spped CFwevpamuiesr &eamLind
X. 9evewaion Gumii
Y. “Cuw’ Ganr" i’ Grmiidha@mn)

A) P-X, Q-V, R-U, S-Y B) P-W, Q-Y, R-U, S-V

C) P-W, Q-U, R-T, S-V D) P-X, Q-V, R-T, S-Y

CEnRssLILL L Pldenssaiet Ll 19 weded, Saupret Blsamsamws CsinolsHEsa b :
i. CumedGwr Crmumefsafley Fwomi 25% Guit Ldseurs Crmuned LITHESLILIHS GG,
ii. Gungieuns, CumreSGumered eHLI@LD LSHMTFLD 2 1 ST GLp LGS e P HLD
SIGSTLILIHFDS.
iii. GumeSGwralles Liga e CLIMgaITs DeVLb-eumiieuyd) eufumgLb.
iv. GammCrmi CLmelGureevL 19 av @)eb FHIeLeUemarn LITe S LOSaLD (LpSENILDTESTS),
9YmIC% BeOGVS].
A) iii o Bib B) i o (pib
C) iii opmub iv @oesr(p)b D) ii opmyid iii @uevs(p)Lb
Cagar psmed O\SML_BISLILIL L 9yidgib LIS (LpSEBIL YLbFLONE QDTS 6TH ?
A) oyuibL &&15My BlenevwBisear @& BLDLI FHTSTT HleHIIBISGTTS LDNFTeHLDSS
B) QeuelCrmumelser Gsemeueows o6 610fBe0 LILIGTLIBHSSHIS
C) 961 3mIGw LIpBIGLY FLpFBISEREGHLD YLYLILIDL FETHTT CFMUFGT TS
D) sneysm wmdsieuioeamenuiley @i avoluapmedl g CFeneuser

DBiam emeugev Crmil (LpFesT(LpSeSleD (B 19.60) 1947 @6 HevstL_phwilii’ L g.
@mLidenid @3 pseiLpsedley Cagarralled 8 grdenev 2021 gjeitmy
el L Hev LHaInHug).

A) o srewiL_T, H(HUGSTHSLITLD B) @wor aSCwimett, eriesstm@emh

C) Quur SCwrest, (peueThbsLgLb D) ymewiig, erfemstmgend

B&@HLD ClLimmafleh Q(h FSFemwLs LLGTLIRSDGSTeD, ST @)UIGSHLD FTOSLOTH DS
@%b CFils Calemev

A) Gpiioenm B) e@iioemm

C) ugheduib D) Griioemm opmith 61%)iLoenm

Lbludes levp Lopmid ot @res®id 1% @b Ted

A) yelufitiLy smyewions (Lp(hdsLd 9B M @LD

B) sU94@b Cousid B sMdb@Lb

C) yaeilufitiy smyestions pBlésLb GeomuLb

D) su94@w Coustd GemulLb

@ IeHT(R) (Q)EHEHTIITRT FLOFOT HETEHITLYH@hHG Q)L _ulle) HTewTSIalg Wl LIL BIS6TGHT
GTGUTGESII % 6%

A) 2 B) 4 C) 1 D) erevemevwipmena
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42.

43.

44,

45.

46.

47.

48.

49.

50.

51.

52.

Current director of Satish Dhawan Space Centre, Shriharikota is
A) S. Somanath B) S. Pandian C) A. Rajarajan D) P. Kunhikrishnan

The following graph illustrates :

1

logV—>
A) Charle’s law B) Boyle’s law
C) Dalton’s law D) Avogadro’s law
Which of the following statements is true about ideal solutions ?
A) The volume of mixing is zero B) The enthalpy of mixing is zero
C) Both A) and B) D) None of these

Nitrogen does not form NCI, while phosphorous forms PCI.. It is due to

A) Availability of vacant d-orbitals in P but not in N

B) Lower electronegativity of P than N

C) Lower tendency of N to form covalent bond

D) Occurrence of P in solid state while N in gaseous state at room temperature

The Nobel Prize in Chemistry for the year 2021 was jointly awarded to Benjamin List
and David MacMillan for their work in

A) The development of a method for genome editing

B) The development of lithium-ion batteries

C) The phage display of peptides and antibodies

D) The development of asymmetric organocatalysis

The classical dance form of ‘Sattriya’ is from which State ?

A) Manipur B) Assam C) Uttar Pradesh D) Andhra Pradesh
Which literary work belongs to classical Sanskrit literature ?
A) Vedas B) Dhammapada C) Dighanikaya D) Meghadutam
Which terms are used to describe parts of a cricket bat ?
A) Eye and Toe B) Leg and Hand
C) Shoulders and Toe D) Neck and Shoulders
How many team members are present in each team of a handball game ?
A7 B) 5 C) 6 D) 8
The value of (5001)2 — (4999)? is
A) 20000 B) 10000 C) 50000 D) None of these
How many terminating zeros in 1 x 2 x 3 x ... x 100 ?
A) 10 B) 11 C) 21 D) 24
-12-
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uf anfGasr_maled o etar FHay seumenr allewbleuaf eniowdGer sHCLTERSW
Q@ uid @i

A) S. Gamopis B) S. wmessiig wiest

C) A. gngggmegest D) P. @eiran%)mayesiesr

Liereu(pLb euengLIL LD alleTHGHFmS)

1

logV—>
A) Fmievev a9%) B) wmiev a9%) C) Lmevr_cir @93 D) weusm Gur ail%)
FAwps sengFenevls LDM) LIGTaIRLD FmDmISeailey 615 FAWITesg 2
A) seenauullest 9jaTe Lighesliom@Lb B) sewenauuilesr ereir_evL9) Lyghedluiiom@Lb
C) A) wpmib B) @uess(pd D) @eeu siga b @evenev

apLgger NCl, @ o ;aindsng, <ermmed umevugev PClo auns@spg. )31
SHTIGSTLDTS 2_GIT6TS)

A) P Qe sreSlwns o erer d-9yi i 1 evser Henl_s@GLd yermed N @eb @)evenev

B) N @ ol P @eir @eomis etovd” Cumblpsigail” g

C) Gsmeueveir” Llewewiiens o reunsd@d N @6t Geomps Cuinds,

D) e Gauiiblenevuiled eumy Blenevuilsd N @)md@id Guimgy S Blevevulleh P @)er Blospay

2021 gyb ey nsrest CouFuweydster Crrecy Lifla GlLiepadler eSavl’ opmyLb
CLail” Gsihlebeveyidh @ Seuiseller @)b5 LeRSHETs Fnl' L 1% alpdbsliul L g

A) 8 O _eueiGoeiTL" oLt 6T GlodGL" obLimt Gestmid 61191”1951

B) & Gl_cuevliQoaitL” 94o%Lt el$@uwith west G L_Mav

C) & Gugy 19619860 %Lt Gl ewL_(Rav y6ST(h YGSTLYLITLY 6V

D) & Ol_eueriGloest’ gpoort HAGIoL 195 4 i%CerTsm L emevFav

‘FS@Mwm e163TD LIMILbLIAW LGS QUL QILD 6ThS LOMBlvsensd CFibas)

A) ety B) wemb C) 2351 9CsFib D) 9580 L99Cssib
6165 QeVSHWLT LieoL LIy LmgbLfiw FLoevE(hs QeEHISHH@ C\FTbSLOTCTS ?

A) Gousmiser B) sibioLigip C) @smaflswm D) Gussisid
FMNE0sL" 1oL” eoL_uledt Lnsmiseer alloufds ebs CFmeer LILGTLIBHSSL LIRS GIDGST 2

A) Fess LPMILD HT6H AINTVHGT B) smeb wopmih ewa

C) Gsmeiraser opmitb Hrevallgevdseir D) swss wpmid Csmerser

sLiLbg aleeruml 196 gaibleurrs yewfluleb eidsemar Gy o milieriser
2 Girenrestii 9

A) 7 B) 5 C) 6 D) 8
(5001)2 — (4999)2 @)ser LOPILIL 615G 2

A) 20000 B) 10000

C) 50000 D) @emeu e1gia blebency
1x2x3x...x100. erggemar 1oy ey (terminating) yghedlwisiser @)% eiewr(h
A) 10 B) 11 C) 21 D) 24
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53. What is the sum of 51 consecutive even numbers if the middle term is 212 ?
A) 10812 B) 10600 C) 10612 D) None of these

54. If a car moves along a straight line from A to B with a speed of 60 km/h and return
back B to A with a speed of 40 km/h. Then the average speed is
A) 44 B) 48 C) 50 D) None of these
19429439+ ..+100"

100

5 1194394594 +99"° and
50
2944 16" +...+100"
50 '
Then which of the following is true ?
A) A<B<C B) C<B<A C) C<A<B D) None of these

C:

56. If 17" August, 1998 was Monday, what was the day of the week on 12" August,
1994 ?
A) Sunday B) Wednesday C) Tuesday D) Friday

57. Select the pair in which the letter groups are similarly related as the pair
LOWER : WORLE

A) GLAZE : AGELZ B) AMONG : OMNAG
C) WORDS : ROSWD D) ENTRY : RNYET
58. How many times are the hands of a clock at right angle in a day ?
A) 22 B) 24 C) 44 D) 48
59. Find the odd man out : 111, 133, 143, 155, 188, 200.
A) 111 B) 143 C) 200 D) None of these

60. If a man were to sell his chair for Rs. 720, he would lose 25%. To gain 25%, he
should sell it for
A) Rs. 1,200 B) Rs. 1,000 C) Rs. 960 D) Rs. 900

61. Maximum number of Good Conduct Stripes that can be worn by Assistant Prison
Officer/Deputy Prison Officer.
A) 4 B) 2 C) 3 D) None of the above

62. Who can post Assistant Prison Officers on Temporary Basis with the prior permission
of the Government ?
A) Deputy Inspector General of Prisons
B) Director General of Prisons and Correctional Services
C) Chief Welfare Officer
D) None of the above
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@evr_dasmevrd 212 eresiped, 51 Qgm_ig@uwmes @) e eTevsaafle onl" (Hd0)FTen5%
6TGoTGeT 7

A) 10812 B) 10600

C) 10612 D) @eeusailed 61516 Lblcbemev

@@ s A uedmBg B aueny 60 Km/h Gousg@ev pp Crit Cami g eb psiibagl, B ulledmps)
A 5@ 40 km/h GousgBlev F(HLbLIFDSI. 9S8t Fumah CeusbLb 6TesTesT

A) 44 B) 48
C) 50 D) @emeusafled e1gia Lblcvemev
A 194294389 +...+100"
100 ’

19 4+39 4594499
B= 50 LodmiLb

2"9+4" 46" +...+100"
C= 50 .
eTesile, LiesTaumeuaTaDDIcy 615 il ?
A) A<B<C B) C<B<A
C) C<A<B D) @eeusafleh 61516 blcvemev

gsavl 17,1998 Qmiser Sipevio e16iimmed, 1994 gyaevi” 12 g6ty eungsSest eTestee
BIGTTS Q)55 Fn(hLD.
A) epmullmy B) yseir C) Ggaicumii D) GQevsirerf

Gogirg LOWER : WORLE Guretip #1956 @&(LpdseT 655 Hdh@HD Camg enuwid
Caii0)%(HESaLD.

A) GLAZE AGELZ B) AMONG : OMNAG

C) WORDS : ROSWD D) ENTRY : RNYET

R(Ih BLYFHTTSBGT ®SH6T (b BHaNe) 61t Grib ClFEIGsTents S ev @@5@LD
A) 22 B) 24 C) 44 D) 4

111, 133, 143, 155, 188, 200. @%ev ppenpLILIHL cTesTessTIhens BT HIicyLD.
A) 111 B) 143
C) 200 D) Qeaszafleh e1gia/Hlevenev

P BLIT ST Bapstedlenw RS. 720 & @57@]_19/7@ 9o 25% @bpuu/m 9j6urr, 25%
LIt GlLp Ceuer(HLonermed, djeui 9ews alns Ceuessiig ui emLITLI

A) Rs. 1,200 B) Rs. 1,000 C) Rs. 960 D) Rs. 900

.9_5.@57 Gl 9D &MH/FleweT Fevp DS elidanigu HBFLIL F BGIGTL_Se0d
LIL GOL_&6iT

A) 4 B) 2

C) 3 D) GuGev ergyayib @)evemev

Qeut IFTBEISSF T (LpedT YeoPWL T FHEHTS g LiLienL_uled 2 Fal Feom
IS smisemer Hluibdseomd

A) fewpiFremev SlEewT Y UiaiTent Cleyertyed

B) @enpssnencvser LopmILD GiBmss Coemeusaiar ClLimg Quis@ernt

C) semevenio pev cﬂy@g’m@vn

D) GuGev e1giayb @)cvenev
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63. Head of the Assistant Prison Officers
A) Prison Officer B) Welfare Officer
C) Deputy Superintendent D) Joint Superintendent

64. Released female prisoners who need not be provided transportation facilities to
travel back to home
A) Those who have to travel less than 8 km
B) Those who have to travel less than 2.5 km
C) Those who have to travel less than 1.6 km
D) None of the above

65. High Security Prison in Kerala is situated at

A) Kannur B) Viyyur
C) Thiruvananthapuram D) Kozhikode
66. The Prisoners lodged in Central Prisons are not eligible for
A) Ordinary Parole B) Emergency Parole
C) Home leave D) None of the above

67. The Prisoners who are not eligible for travel time during parole
A) Those who have to travel less than 16 km
B) Those who have to travel less than 21 km
C) Those who have to travel less than 27 km
D) Those who have to travel less than 32 km

68. Who is the Chairman of the committee which reconsiders the cases of the Convicts
who are not eligible for parole owing to adverse police reports ?
A) District Judge
B) Director General of Prisons and Correctional Services
C) District Collector
D) District Police Chief

69. Number of Open Prisons in Kerala

A) 3 B) 2 C) 4 D) 1
70. The Officer In-Charge of various Office Sections in Jails
A) Assistant Prison Officer B) Prison Officer
C) Assistant Superintendents D) None of the above
71. Maximum number of days that can be granted as Ordinary Leave in a Calendar
year
A) 30 B) 60 C) 15 D) 45

72. The authority to grant first Ordinary Leave
A) Director General of Prisons and Correctional Services
B) Chief Welfare Officer
C) The Government
D) The Superintendent
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2 509 Fevm B FThGeN6T Sevevar

A) Qevm B B) pev yapiaievir

C) siewesst sevsrsmewilLiLimenTt D) @enewnt sevrasment]iLimennt
alBgemev Qi L @Qbs e enaGser ClFmig cani GlFeveusn@ CLITSGHMTSS!
@St OFuig ClsTRSsLILIL . Coucsig wHevenev

A) 8 km &@ Geweuns Liwenilds Ceuessiy weiser

B) 2.5 km 4@ @emmeuns Liwesstlds Cevessiy weuigser

C) 1.6 Km @ @emweuns Liwesilds Geuessiy weuiser
D) GuGev e1giayb @)evenev

Cagormalley 2w LMGISTUIL] Feom 2 66|

A) seimayri B) aflunyr

C) @meuesihsLoib D) GamplGsm(h

&G W Heopsaflcd 2 6Tar EFF6T QBDGH HGHFWDDeUTHET

A) gngmgesst LGy B) wjeugr LiGgmed

C) Gawmb 56 D) GuGev e1gyayib @)evemev

LGymeSesr Guing Lwewth CFLIWL FSHBUNDVTS OB H6iT
A) 16 Km 3@ @epeuns Liwenflss Coueiy wealiser
B) 21 km 4@ @empeurs Liwestiss Geuessig wieuiser
C) 27 km & @epeuns Liwesstids Gevessig wieuiseir
D) 32 km &@ @eopeuns Liwenlldss Coueiiy weiser

LInBSLOMeT GLITeS6 2ldends6ir HTIeRTLONS LIGTTeIH@ S&HFUNVevns Gnmareflseriesr
LS GSaT LomLIMFvenest OFuiwyLd &Lpaller semevaurd wimi ?

A) wmeul L SIS

B) @ewpignenevsser opmid Csm_ir) Ceemeusailesr Quid@ei Gleesych

C) wmeul’t g P

D) wmeul’ L sreuchgienm Semeveurt

Cagearmailed 2 eiter mis0leuafl Fenpasallcsr crevsestsends

A) 3 B) 2 C) 4 D) 1
Fenpsafley 2 eitar LIvCeun yeuevsL LIfleysallesr Glummliimert 2

A) 2 569 Feop B s B) @eop @i

C) 2 sl sesismeniiLimaTiser D) GuGev ergyayib @)evemev

R(5 FHTCUGHTL_IT YeWT14.60 FTSTIERT aI(BHLILITS QULPBISLILIL SFalglll HYFHLIL F B H6T

A) 30 B) 60 C) 15 D) 45

60 FTSTIERT QIGLIL| QULPBIGHAUSHHTET YPFTILD WIT(HSE 2 6TeTs ?
A) RenpiFreavseT LoPpmih FiBhss CFemeusaies LTS SSmevalrt
B) semevenio pev yeyiaievir

C) oypenmisLb

D) sessrsmewtl iimert
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73.

74.

75.

76.

77.

78.

79.

80.

The Oldest Jail in Kerala

A) District Jail Kasargod B) District Jail Kozhikode

C) District Jail Thiruvananthapuram D) District Jail Viyyur

Number of Open Prisons for Women in Kerala

A) 1 B) 3 C) 2 D) None
First Inspector General of Prisons of Kerala

A) Sri. Padmagireeshwaran Nair B) Sri. John Mathai

C) Sri. A. V. John D) None of the above

The Prisoners who could be lodged in District Jails

A) Those who were sentenced for less than 6 months imprisonment
B) Those who were sentenced for more than 6 months imprisonment
C) Those who were sentenced for more than 1 year imprisonment

D) None of the above

The document that has to be returned to the court concerned after execution of
sentence

A) Remission sheet B) Nominal Roll

C) Warrant D) Judgement Copy

A sentence of imprisonment for life for an offence for which death is one of the
punishment provided, shall not be released until completion of
A) 12 years B) 8 years C) 20 years D) 14 years

Which among the following Acts cannot be treated as an offence amounting to
Violation of Privacy under the Information Technology Act, 2000 ?

i. Disclosure of confidential records by an officer empowered under this Act without

the consent of the person concerned.
ii. Transmitting nude pictures of a person without his consent.
iii. Dishonest use of password of any person.
iv. Hacking with computer system.
A) Only iii and iv B) Onlyii and iv
C) All of the above except i D) All of the above except ii

Choose the most appropriate answer after reading the following facts :

Athul, a B.Tech. student had a break-up with his girlfriend Namrata. Thereafter, he
deletes his pictures and messages from Namrata’s phone and laptop without her
knowledge or consent. Which offence under the Information Technology Act, 2000
would be most likely be framed against Athul in the event of Namrata taking legal
action against him ?

A) Athul has not committed any offence under the Information Technology Act, 2000

B) Breach of confidentiality and Privacy under Sec. 72
C) Damage to computer, computer system, etc under Sec. 43
D) Violation of Privacy under Sec. 66 E
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Cagemnalled 2 6irer LiLpenLDWITesT Heop 9
A) s15iCsn® rail L FHeom B) GCamflsGan®) et Heop
C) SmeussipsLgsHev 2 eirar omeu’ L Fevp D) afliiyfed o 6irer wmeul’ 1 Heop

Capemmailed OLicssis@ndssner Bmis0leuad Henpsafler crevsenildhend

A) 1 B) 3 C) 2 D) @sbvemev
Capar Henpsellet Lpsed @)eirav6lLidL i Glggenyey

A) wf. ugGfevaies pmwii B) w. egreir odsmu

C) wf. A. V. ggresr D) GuGev e1giayb @)evenev

Ul L Fennsaie) YL SSLILIL Sdalylll HSHH6T

A) 6 wIFEISERSEGLD &H®DeUTaT FenDSFSTL_6T B SHLILIL L aiser
B) 6 wrsBiseps@ Coed Henpdsesti_anet alFbHLILIL L auiseT

C) 1 gyar(hd@ Coed PeopdsetL_mest aNBSHLILIL L aiser

D) GuGev eigiayd @)evenev

sewiLenest BlevpCoupplini’ L 9@ FhupsLuL L EHSTDSHDSGS F(HLous
Osr(hdasLiLiL. Coueuiig s 4eUesTLD

A) Quiblawer afi” B) mmhewev Gomed

C) eumyessr” D) 8y paev

QULPBIGLILIL L SSTL_GWasISai6) LOTGSST S6UTL_eHGHTILLD GG (B)(BHSLD G (GDDSBDHTSH
Y UJGT SeWTL_eesT QB SHLILIHILD, @SS YeRT(RHET (LpLg-UfLb euenT all(hadlssL L
oML L_15)

A) 12 yepser B) 8 gyewhsdar  C) 20 gy ewm@ser D) 14 yewpser

S56ued CBmPevm L F1"1_1b, 2000 67 &1p 19esra1LD ClFwevEaed 618 FesilujMenLoemiLs
LEILD GDDLOTS H([bF (LPIUING] ?

. @QBss FL 1L FB65 BLp B FHTILd ClLPD 65 BB, 15 BLMGHT QuaFwLs LG eyFHenar

BLMeT FLbLogLhley) CeuaflliLi(hdsIFe

ii. epeuier enio@ e 9j6uTH BlTeUTERTL LIL BISET eB)ILIL|SH60

iii. e1bs0eump HLMGT HL_ayd0lamevenevwb CriemLowdm LoeODUND LILIGTLI(HSSIF
iv. sewflesl] yemioLiyL_csr Camd &)

A) iii Lopmyib IV oL (HiLb B) i ommyib iV or” (pib

C) GuGov 2 oiter Yyewesigaih | $aily D) GwGev 2 sirar yeweisgiib i saily
L965T6U(IBLD 2 GUTEMLOBEGITLT LY G5 LID@ LOseyLd OLmbgsLomest LIenevd

G055 (hdHaLb.
B.Tech. wrewreugner 60, seis 51560 poggsmaill_Ombg LAk, g6t LD,
Qeurt pLogsrailes os>Gumest wphpid Cevlimiied Q)Bbs FeTd LIL_BIG6T LOHMILD
OFiIBsar YauEpdEd OsMumoed evevsl eGulesiy) hé@Fmmi. 2000 gy b
2 eT(H) SHecv O\SMABIL 11F FL 1L FF6T GLp BLOIST FL L LILILG BL_a1L)He0 6T(HGGHLD
UL FEBHD g6V LBF] 6ThSS GDDIFTL BHIL1 L6y QFuii@b 2

A) Siz160 ss6ued GBmPlevm L & 1b 2000 6 $1p 61bs @GPOLPLD OlFualebeney
B) rsfwgseitenio opmih sestluyfenio tbpev L9fay 72

C) ey 43 e G1p Hewsflesf], sewflesl] gyewioLiyy Cunesipaipms@ Casid alenaralldse
D) 9fley 66 E @6t S1p sesfluyflenio Sped
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81. Fill in the blanks with proper question tag.
Don't forget it,

A) doit? B) dontit? C) will you ? D) do they ?
82. Fill up using the appropriate verbal form from the following choices.

He is renovating his house with a view to it.

A) sell B) selling C) sold D) sells
83. Choose the correct answer :

| don’t even know what Ouija board is.

A) an B) a C) the D) some

84. Which out of the following words is a countable noun ?
A) footwear B) scenery C) fun D) poem

85. Which of the following is a complex sentence ?
A) The box is too heavy to carry
B) The box is very heavy and hence he cannot carry it
C) The box is so heavy that he cannot carry
D) The box is very heavy

86. Inebriate means
A) One who pretends to be what he is not
B) A drunken person
C) One who lives at the expense of the society
D) A person who has no self control

87. Sine qua non the foreign phrase means
A) prerequisite B) sincerely C) indefinitely D) non-refundable

88. Fill in the blanks with the correct option.

Half of
A) my friend lives abroad B) my friend is living abroad
C) my friend living abroad D) my friends live abroad

89. Choose the correct passive voice of the following sentence.
Did she type the passage ?
A) Whether the passage was typed by her ?
B) Was the passage typed by her ?
C) Were the passage typed by her ?
D) Are the passage typed by her ?

90. Identify the meaning of the phrase in italics.
He is at loggerheads with his many friends.
A) at strife B) in close contact with
C) away from D) discussing
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91. ydsmseany ereLsesT Filwmest GlFmed
A) 531551 B) wyppiisang
C) wssibseamnr D) 35 senr

92. @uileoun (h umgws LTTH Q)eieuTdSwgH et FlwmeTt ey auLb
A) umg® umgw Guilebum” H
B) ump@wmi Lmgwg @uilevim (b
C) @uileoLm’ B wmgwg Lmg@wimi

D) @uiebuimieor 1 Limgweurr Limg@wimi

93. GQloulesr Cun(p) — 6IGILISEH SLOLPTSSHLD
A) (LpSGTEHLDWITEST FTemEV B) wps&w smemev
C) wsestenind Fmemev D) wsavsFmenev

94. m, wevr, aurevrp — Gy CFrevadled &L (hs.

A) epeitmyLiptb B) wssaf
C) wpdxemeu D) wpLiLiptd
95. wnenestenwd & BHIb CoumyOeFmed
A) i B) wr
C) <yom D) yafl
96. Gsuiewip GTGTLISGT 1S TLILIGLD
A) eraflemio B) Qumenio
C) yessrevip D) snuieoin

97. Wealth is best known by want — @1 LipQomflufiesr Lhlprssib
A) Blipeder gy@meno Glauuiedled Gl Mujib
B) Qgevaid flenevwinms)
C) wewrd LSGID GClFdiuyib
D) wewtib @evevrseurt LNewrid

98. Glgmev + Glgmit — Caidg 61(LpsI%.

A) QFmevOHm_ii B) QempGmm_ii
C) QenevQmm_rit D) QgmevGlgm it
99. Gagmbued — L9755 61(LpSI%.
A) Gs + gyibLicd B) Gasm+ yibLied
C) G#bewio + gyLbLich D) Gsuiewio + gybricd

100. weeafp@pal — Caipmedis 2 Heors allfgs 6T(LpSI%.
A) edewigymad B) weev ymad
C) wemeafppal D) weevuier afpmmald
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